1

24V Input Connection 24V Protection Circuitry 24V Output Connection )
Q1
24Vin 24Vin IPB120P04P404ATMA2 24Vout 24\Vout 5447861
P1 J1 XF1 XF2 2 2 Position
oL A+ Fused 2 s A Fused 1 [y Plug
1757035 al 2 M 141 M 2 [ o
4 Position el 3 696107003002 T D1 696107003002 e 5447861
Plug - [ 4 Use with 0034.3127 - DDZ9697-7 Use with 0034.1522 1803426 P3 A
hd Placed as "F1" below i\ R2 Placed as "F2" below SR3 J3
1757035 1735866 F1 2.2k = 2.2k 1 - 5447861
L S TVSsL PPNy 2 ° 2 Pglsl:;ion
GND 0034.3127 SMAIZ6A-E3/61 0034.1522 4 Ct 1803426
. 10A, SLOW BLOW 4A, FAST BLOW —<33uF 5447861
Input power details: R1
" 2.2k LED1 LED2 .
- Cell Type: 2 X LiFePO4 in series 10A Trace Width: LTST-C150KGKT | & LTST-CI50KGKT | & 4A Trace Width:
- Nominal Voltage: 25.6V
- Capacity: 100 Ah Current: 10A Current: 4A
- Max Current: 100 A Copper Weight: 10z i i i i i i Copper Weight: 10z
- Internal BMS with circuit protection Ambient Temp.: 25C == == == == == == Ambient Temp.: 25C
- M8 connection terminals Allowed Temp. Rise:  30C GND GND GND GND GND GND Allowed Temp. Rise: 20 C
Trace width: 146 mil Design Guide - PMOS MOSFET for Reverse Voltage Polarity Protection Capacitor selection quide Trace width: 53 mil
12V Switching Power Supply 5V Switching Power Supply 3.3V LDO Regulator Power Supply
24\out 12v 24\out 5v 5V 3.3V B
PS1 PS2 U1
L} vin wvout 2 L1 i vour 2 15 1N out 2
c2 2 NC —X —Lc3 ca 2 +Sense 5 X _Lcg 0 2
A 33uF On/Off Control Output Trim H(S __10 E A 33uF On/Off Control Output Trim H(S __10 E GND 2 H c7
T~ 3K 3 _ NC e e R 3 _ -Sense < e GND T 10uF
1 ) -Vin -Vout P3 P4 e Vg MIC2930033WU
0 0 UWS-12/4.5-Q48N-C 0 0 UWS-5/10-Q48NM-C
—C6
100nF
GND  GND 24VOUT GND GND GND  GND 24VOUT GND GND GND GND GND
12V Output Connector and Protection 5V Output Connectors and Protection 3.3V Output Connector and Protection
2y 5V 3.3v
XF3_____ Fused 4 XF4_____ Fused 6 XF5_____ Fused 8 P8 e
i ! use 1 i ! use 1 i ! Se 1
i\ 21 i\ 2| T\ 21 5447861
696107003002 e 696107003002 e 696107003002 e 2 Position
Use with 0034.1522 1803426 Use with 0034.1519 1803426 Use with SMF1-R 1803426 Plug
Placed as "F3" below Placed as "F4" below Placed as "F5" below 9
5 7 R6 1 5447861
F3 R4 1 F4 1 F5 130 5 !
- 1k 21 A X R5 2 aadine et P9
0034.1522 4 c8 - 0034.1519 300 + co - 5MF1-R + c10 1803426
4A, FAST BLOW ——=33uF 1803426 2A, FAST BLOW Er=iaee 1803426 1A, FAST BLOW - é = 5447861
H [P 2 Position
Plug
TVS3
TVS2 SMAJ5.0A TVS4 5447861
PASMALEA SMBJ3V3-E3/52
LED3 LED4 P LEDs P
LTST-C150KGKT R LTST-CI50KGKT ~ [\ LTST-CI50KGKT ~ | &
GND GND GND  GND GND GND GND GND GND GND  GND GND D
P4 P5 P6 P7
. AA A H H Team F
5447861 5447861 5447861 5447861 Tite ZAAPP Power Distribution Board MRSD
All board headers placed with matching 2 Position 2 Position 2 Position 2 Position o . L 16-681
plugs. Every J has a corresponding P. Plug Plug Plug Plug Size: Letter ‘ Number:1 Revision:A
Date: 4/5/2024 Time: 4:07:15 AM| Sheetl of 2
5447861 5447861 5447861 5447861 File: Sheetl.SchDoc
1 2 3 4



https://components101.com/articles/design-guide-pmos-mosfet-for-reverse-voltage-polarity-protection
https://resources.altium.com/p/what-they-do-not-teach-you-about-capacitors

Spare parts: Hardware:
Input Connector: Output Connector:
SparePart1 SparePart2
M1 M2
1757035 5447861
4 Position 2 Position Hex Stand-off Hex Stand-off
Plug Plug M3,9mm M3, 9mm
1757035 5447861 CBTSO030A CBTS030A
M3 M4
Fuses:
H%x gtand-off He3x gtand-off
SparePart3 SparePart4 L, 0555 i
CBTSO030A CBTS030A
0034.3127 0034.3127
10A, SLOW BLOW 10A, SLOW BLOW M5 M6
Screw Screw
SparePart5 SparePart6 M3 X 6 mm M3 X 6 mm
Nylon Nylon
0034.1522 0034.1522
4A, FAST BLOW 4A, FAST BLOW 97790603111 97790603111
SparePart7 SparePart8 M7 Ma
Screw Screw
0034.1519 0034.1519 M3 X 6 mm M3 X 6 mm
2A, FAST BLOW 2A, FAST BLOW Nylon Nylon
SparePartd SparePart10 97790603111 97790603111
5MF1-R 5MF1-R
1A, FAST BLOW 1A, FAST BLOW
Tite ZAAPP Power Distribution Board lear?
Size: Letter ‘ Number:1 Revision:A A3l
Date: 4/5/2024 Time: 4:07:16 AM| Sheet2 of 2
File: Sheet2.SchDoc
1 2 3




	Schematic Prints("All Documents",Physical)
	Sheet1.SchDoc(Sheet1)
	Components
	C1
	C1-1
	C1-2

	C2
	C2-1
	C2-2

	C3
	C3-1
	C3-2

	C4
	C4-1
	C4-2

	C5
	C5-1
	C5-2

	C6
	C6-1
	C6-2

	C7
	C7-1
	C7-2

	C8
	C8-1
	C8-2

	C9
	C9-1
	C9-2

	C10
	C10-1
	C10-2

	D1
	D1-1
	D1-2

	F1
	F1-1
	F1-2

	F2
	F2-1
	F2-2

	F3
	F3-1
	F3-2

	F4
	F4-1
	F4-2

	F5
	F5-1
	F5-2

	J1
	J1-1
	J1-2
	J1-3
	J1-4

	J2
	J2-1
	J2-2

	J3
	J3-1
	J3-2

	J4
	J4-1
	J4-2

	J5
	J5-1
	J5-2

	J6
	J6-1
	J6-2

	J7
	J7-1
	J7-2

	J8
	J8-1
	J8-2

	J9
	J9-1
	J9-2

	JP1
	JP1-1
	JP1-2

	JP2
	JP2-1
	JP2-2

	JP3
	JP3-1
	JP3-2

	JP4
	JP4-1
	JP4-2

	JP5
	JP5-1
	JP5-2

	LED1
	LED1-1
	LED1-2

	LED2
	LED2-1
	LED2-2

	LED3
	LED3-1
	LED3-2

	LED4
	LED4-1
	LED4-2

	LED5
	LED5-1
	LED5-2

	P1
	P2
	P3
	P4
	P5
	P6
	P7
	P8
	P9
	PS1
	PS1-1
	PS1-2
	PS1-3
	PS1-4
	PS1-5
	PS1-6
	PS1-7
	PS1-8

	PS2
	PS2-1
	PS2-2
	PS2-3
	PS2-4
	PS2-5
	PS2-6
	PS2-7
	PS2-8

	Q1
	Q1-1
	Q1-2
	Q1-3

	R1
	R1-1
	R1-2

	R2
	R2-1
	R2-2

	R3
	R3-1
	R3-2

	R4
	R4-1
	R4-2

	R5
	R5-1
	R5-2

	R6
	R6-1
	R6-2

	TVS1
	TVS1-1
	TVS1-2

	TVS2
	TVS2-1
	TVS2-2

	TVS3
	TVS3-1
	TVS3-2

	TVS4
	TVS4-1
	TVS4-2

	U1
	U1-1
	U1-2
	U1-3
	U1-4

	XF1
	XF1-1
	XF1-2

	XF2
	XF2-1
	XF2-2

	XF3
	XF3-1
	XF3-2

	XF4
	XF4-1
	XF4-2

	XF5
	XF5-1
	XF5-2


	Nets
	3.3V
	Pins
	C7-1
	TVS4-1
	U1-3
	XF5-1


	5V
	Pins
	C5-2
	JP5-2
	PS2-8
	TVS3-1
	XF4-1


	12V
	Pins
	C3-2
	PS1-8
	TVS2-1
	XF3-1


	24Vin
	Pins
	J1-1
	J1-2
	XF1-1


	24Vout
	Pins
	C2-2
	C4-2
	D1-1
	JP2-1
	JP4-1
	PS1-1
	PS2-1
	Q1-3
	R2-2
	TVS1-1
	XF2-1


	GND
	Pins
	C1-1
	C2-1
	C3-1
	C4-1
	C5-1
	C6-1
	C7-2
	C8-1
	C9-2
	C10-2
	J1-3
	J1-4
	J2-2
	J3-2
	J4-2
	J5-2
	J6-2
	J7-2
	J8-2
	J9-2
	JP1-1
	JP3-1
	LED1-2
	LED2-2
	LED3-2
	LED4-2
	LED5-2
	PS1-3
	PS1-4
	PS2-3
	PS2-4
	R1-1
	TVS1-2
	TVS2-2
	TVS3-2
	TVS4-2
	U1-2
	U1-4


	NetC1_2
	Pins
	C1-2
	J2-1
	J3-1
	R3-2
	XF2-2


	NetC6_2
	Pins
	C6-2
	JP5-1
	U1-1


	NetC8_2
	Pins
	C8-2
	J4-1
	J5-1
	R4-2
	XF3-2


	NetC9_1
	Pins
	C9-1
	J6-1
	J7-1
	R5-2
	XF4-2


	NetC10_1
	Pins
	C10-1
	J8-1
	J9-1
	R6-2
	XF5-2


	NetD1_2
	Pins
	D1-2
	Q1-1
	R1-2


	NetF1_1
	Pins
	F1-1


	NetF1_2
	Pins
	F1-2


	NetF2_1
	Pins
	F2-1


	NetF2_2
	Pins
	F2-2


	NetF3_1
	Pins
	F3-1


	NetF3_2
	Pins
	F3-2


	NetF4_1
	Pins
	F4-1


	NetF4_2
	Pins
	F4-2


	NetF5_1
	Pins
	F5-1


	NetF5_2
	Pins
	F5-2


	NetJP1_2
	Pins
	JP1-2
	JP2-2
	PS1-2


	NetJP3_2
	Pins
	JP3-2
	JP4-2
	PS2-2


	NetLED1_1
	Pins
	LED1-1
	R2-1


	NetLED2_1
	Pins
	LED2-1
	R3-1


	NetLED3_1
	Pins
	LED3-1
	R4-1


	NetLED4_1
	Pins
	LED4-1
	R5-1


	NetLED5_1
	Pins
	LED5-1
	R6-1


	NetPS1_5
	Pins
	PS1-5


	NetPS1_6
	Pins
	PS1-6


	NetPS1_7
	Pins
	PS1-7


	NetPS2_5
	Pins
	PS2-5


	NetPS2_6
	Pins
	PS2-6


	NetPS2_7
	Pins
	PS2-7


	NetQ1_2
	Pins
	Q1-2
	XF1-2




	Sheet2.SchDoc(Sheet2)
	Components
	M1
	M2
	M3
	M4
	M5
	M6
	M7
	M8
	SparePart1
	SparePart2
	SparePart3
	SparePart3-1
	SparePart3-2

	SparePart4
	SparePart4-1
	SparePart4-2

	SparePart5
	SparePart5-1
	SparePart5-2

	SparePart6
	SparePart6-1
	SparePart6-2

	SparePart7
	SparePart7-1
	SparePart7-2

	SparePart8
	SparePart8-1
	SparePart8-2

	SparePart9
	SparePart9-1
	SparePart9-2

	SparePart10
	SparePart10-1
	SparePart10-2


	Nets
	NetSparePart3_1
	Pins
	SparePart3-1


	NetSparePart3_2
	Pins
	SparePart3-2


	NetSparePart4_1
	Pins
	SparePart4-1


	NetSparePart4_2
	Pins
	SparePart4-2


	NetSparePart5_1
	Pins
	SparePart5-1


	NetSparePart5_2
	Pins
	SparePart5-2


	NetSparePart6_1
	Pins
	SparePart6-1


	NetSparePart6_2
	Pins
	SparePart6-2


	NetSparePart7_1
	Pins
	SparePart7-1


	NetSparePart7_2
	Pins
	SparePart7-2


	NetSparePart8_1
	Pins
	SparePart8-1


	NetSparePart8_2
	Pins
	SparePart8-2


	NetSparePart9_1
	Pins
	SparePart9-1


	NetSparePart9_2
	Pins
	SparePart9-2


	NetSparePart10_1
	Pins
	SparePart10-1


	NetSparePart10_2
	Pins
	SparePart10-2






